
SAP ABAP table EPROP {Owner Allocation}

EPROP

MANDT [CLNT (3)]

PROPERTY [CHAR (10)]

OWNER [CHAR (10)]

ACCOUNT [CHAR (12)]

ACBFEE [CHAR (4)]

OPBEL [CHAR (12)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]
 EPROP-OWNER = BUT000-PARTNER 0..N

{0,1}

DFKKKO

MANDT [CLNT (3)]

OPBEL [CHAR (12)]

 EPROP-OPBEL = DFKKKO-OPBEL 
0..N

{0,1}

EPROPCA

MANDT [CLNT (3)]

ACB_ACTION [CHAR (4)]

 EPROP-ACBFEE = EPROPCA-ACB_ACTION 

0..N

{0,1}

FKKVK

MANDT [CLNT (3)]

VKONT [CHAR (12)]

 EPROP-ACCOUNT = FKKVK-VKONT 

0..N

{0,1}


